County	Population July 2021	Land Area Sq. Miles	Population Density	Ranking by Population		Ranking by Den	sity
Allegany	67,729	. 422.2	160.4	1. Montgomery	1,054,827	1. Baltimore City	7,122.0
Anne Arundel	590,336	414.8	1,423.1	2. Prince George's	955,306	2. Montgomery	2,139.1
Baltimore City	576,498	80.9	7,122.0	3. Baltimore	849,316	3. Prince George's	1,979.3
Baltimore	849,316	598.4	1,419.4	4. Anne Arundel	590,336	4. Anne Arundel	1,423.1
Calvert	93,928	213.2	440.6	5. Baltimore City	576,498	5. Baltimore	1,419.4
Caroline	33,386	319.4	104.5	6. Howard	334,529	6. Howard	1,333.1
Carroll	173,873	447.6	388.4	7. Frederick	279,835	7. Harford	601.6
Cecil	103,905	346.3	300.0	8. Harford	262,977	8. Calvert	440.6
Charles	168,698	457.8	368.5	9. Carroll	173,873	9. Frederick	423.6
Dorchester	32,489	540.8	60.1	10. Charles	168,698	10. Carroll	388.4
Frederick	279,835	660.6	423.6	11. Washington	154,937	11. Charles	368.5
Garrett	28,702	649.1	44.2	12. St. Mary's	114,468	12. Washington	338.5
Harford	262,977	437.1	601.6	13. Wicomico	103,980	13. St. Mary's	319.2
Howard	334,529	250.9	1,333.1	14. Cecil	103,905	14. Cecil	300.0
Kent	19,270	277.0	69.6	15. Calvert	93,928	15. Wicomico	277.7
Montgomery	1,054,827	493.1	2,139.1	16. Allegany	67,729	16. Allegany	160.4
Prince George's	955,306	482.6	1,979.3	17. Worcester	53,132	17. Talbot	140.1
Queen Anne's	50,798	371.7	136.7	18. Queen Anne's	50,798	18. Queen Anne's	136.7
St. Mary's	114,468	358.6	319.2	19. Talbot	37,626	19. Worcester	113.4
Somerset	24,584	319.7	76.9	20. Caroline	33,386	20. Caroline	104.5
Talbot	37,626	268.6	140.1	21. Dorchester	32,489	21. Somerset	76.9
Washington	154,937	457.8	338.5	22. Garrett	28,702	22. Kent	69.6
Wicomico	103,980	374.4	277.7	23. Somerset	24,584	23. Dorchester	60.1
Worcester	53,132	468.4	113.4	24. Kent	19,270	24. Garrett	44.2
Total	6,165,129	9,711.2	634.8				

Maryland Population and Density

				Average Annual Change				
County	July 2000	July 2010	July 2021	2000-2010	2010-2021	2000-2021		
Allegany	74,804	74,968	67,729	0.0%	-0.9%	-0.5%		
Anne Arundel	491,670	539,305	590,336	0.9%	0.8%	0.9%		
Baltimore City	649,086	620,942	576,498	-0.4%	-0.7%	-0.6%		
Baltimore	755,598	806,654	849,316	0.7%	0.5%	0.6%		
Calvert	75,118	88,989	93,928	1.7%	0.5%	1.1%		
Caroline	29,773	33,054	33,386	1.1%	0.1%	0.5%		
Carroll	151,454	167,230	173,873	1.0%	0.4%	0.7%		
Cecil	86,448	101,161	103,905	1.6%	0.2%	0.9%		
Charles	121,229	147,159	168,698	2.0%	1.2%	1.6%		
Dorchester	30,581	32,689	32,489	0.7%	-0.1%	0.3%		
Frederick	196,563	234,239	279,835	1.8%	1.6%	1.7%		
Garrett	29,838	30,144	28,702	0.1%	-0.4%	-0.2%		
Harford	219,797	245,236	262,977	1.1%	0.6%	0.9%		
Howard	249,590	288,618	334,529	1.5%	1.4%	1.4%		
Kent	19,252	20,213	19,270	0.5%	-0.4%	0.0%		
Montgomery	877,478	975,619	1,054,827	1.1%	0.7%	0.9%		
Prince George's	803,111	866,442	955,306	0.8%	0.9%	0.8%		
Queen Anne's	40,763	47,809	50,798	1.6%	0.6%	1.1%		
St. Mary's	86,498	105,772	114,468	2.0%	0.7%	1.3%		
Somerset	24,710	26,464	24,584	0.7%	-0.7%	0.0%		
Talbot	33,895	37,876	37,626	1.1%	-0.1%	0.5%		
Washington	132,051	147,727	154,937	1.1%	0.4%	0.8%		
Wicomico	84,899	98,974	103,980	1.5%	0.4%	1.0%		
Worcester	46,828	51,500	53,132	1.0%	0.3%	0.6%		
Total	5,311,034	5,788,784	6,165,129	0.9%	0.6%	0.7%		

Population Growth in Maryland

				Percen	Percentage Point Change				
County	July 2000	July 2010	July 2021	2000-2010	2010-2021	2000-2021			
Allegany	7.5%	11.7%	13.9%	4.3	2.2	6.4			
Anne Arundel	20.2%	27.6%	34.9%	7.4	7.4	14.7			
Baltimore City	69.0%	71.9%	72.4%	3.0	0.5	3.5			
Baltimore	26.5%	37.4%	45.8%	10.9	8.4	19.3			
Calvert	17.0%	20.3%	23.6%	3.3	3.3	6.6			
Caroline	19.3%	21.7%	25.2%	2.4	3.5	5.9			
Carroll	4.8%	8.8%	12.7%	3.9	3.9	7.9			
Cecil	7.4%	12.6%	16.3%	5.3	3.7	8.9			
Charles	32.7%	51.8%	65.3%	19.0	13.6	32.6			
Dorchester	31.4%	34.0%	37.9%	2.6	3.9	6.5			
Frederick	11.9%	22.1%	30.7%	10.3	8.6	18.9			
Garrett	1.6%	2.7%	4.0%	1.1	1.3	2.4			
Harford	14.1%	20.8%	26.0%	6.7	5.2	11.9			
Howard	27.3%	40.9%	51.4%	13.6	10.5	24.1			
Kent	21.6%	21.8%	22.2%	0.1	0.4	0.5			
Montgomery	40.2%	50.7%	57.8%	10.5	7.1	17.5			
Prince George's	75.7%	85.0%	88.1%	9.3	3.1	12.5			
Queen Anne's	11.5%	12.6%	14.2%	1.1	1.6	2.7			
St. Mary's	19.6%	23.5%	27.0%	3.9	3.5	7.5			
Somerset	44.3%	47.8%	48.4%	3.5	0.5	4.1			
Talbot	18.8%	21.0%	22.8%	2.1	1.8	4.0			
Washington	10.9%	16.8%	24.2%	6.0	7.3	13.3			
Wicomico	28.5%	33.4%	38.8%	4.9	5.4	10.3			
Worcester	19.5%	19.5%	19.8%	0.0	0.3	0.3			
Total	37.8%	45.3%	51.0%	7.5	5.7	13.2			

Minority Share of Population in Maryland

				Average Annual Change				
County	July 2000	July 2010	July 2021	2000-2010	2010-2021	2000-2021		
Allegany	5,606	8,805	9,437	4.6%	0.6%	2.5%		
Anne Arundel	99,165	148,607	206,129	4.1%	3.0%	3.5%		
Baltimore City	447,632	446,570	417,615	0.0%	-0.6%	-0.3%		
Baltimore	200,400	301,626	389,215	4.2%	2.3%	3.2%		
Calvert	12,750	18,041	22,155	3.5%	1.9%	2.7%		
Caroline	5,744	7,181	8,425	2.3%	1.5%	1.8%		
Carroll	7,330	14,644	22,087	7.2%	3.8%	5.4%		
Cecil	6,367	12,763	16,926	7.2%	2.6%	4.8%		
Charles	39,690	76,155	110,215	6.7%	3.4%	5.0%		
Dorchester	9,589	11,102	12,300	1.5%	0.9%	1.2%		
Frederick	23,306	51,842	85,996	8.3%	4.7%	6.4%		
Garrett	479	809	1,143	5.4%	3.2%	4.2%		
Harford	30,986	50,910	68,270	5.1%	2.7%	3.8%		
Howard	68,066	117,976	171,825	5.7%	3.5%	4.5%		
Kent	4,167	4,405	4,272	0.6%	-0.3%	0.1%		
Montgomery	353,169	494,635	609,510	3.4%	1.9%	2.6%		
Prince George's	607,892	736,551	842,091	1.9%	1.2%	1.6%		
Queen Anne's	4,684	6,013	7,209	2.5%	1.7%	2.1%		
St. Mary's	16,920	24,848	30,942	3.9%	2.0%	2.9%		
Somerset	10,946	12,660	11,887	1.5%	-0.6%	0.4%		
Talbot	6,377	7,939	8,571	2.2%	0.7%	1.4%		
Washington	14,332	24,858	37,453	5.7%	3.8%	4.7%		
Wicomico	24,222	33,068	40,363	3.2%	1.8%	2.5%		
Worcester	9,144	10,051	10,511	1.0%	0.4%	0.7%		
Total	2,008,963	2,622,059	3,144,547	2.7%	1.7%	2.2%		

Minority Population Growth in Maryland

County	White	African American	Hispanic/ Latino	Asian	American Indian	Native Hawaiian	Multi Racial	Minority Population
Allegany	86.1%	8.3%	2.1%	1.1%	0.2%	0.1%	2.2%	13.9%
Anne Arundel	65.1%	18.2%	9.0%	4.4%	0.2%	0.1%	3.1%	34.9%
Baltimore City	27.6%	61.3%	6.0%	2.7%	0.3%	0.0%	2.0%	72.4%
Baltimore	54.2%	30.4%	6.2%	6.4%	0.3%	0.0%	2.5%	45.8%
Calvert	76.4%	13.2%	4.8%	1.9%	0.4%	0.1%	3.2%	23.6%
Caroline	74.8%	13.4%	8.1%	1.0%	0.3%	0.0%	2.4%	25.2%
Carroll	87.3%	3.9%	4.3%	2.3%	0.2%	0.0%	2.0%	12.7%
Cecil	83.7%	7.2%	4.9%	1.4%	0.3%	0.1%	2.4%	16.3%
Charles	34.7%	50.7%	7.0%	3.3%	0.6%	0.1%	3.6%	65.3%
Dorchester	62.1%	28.1%	6.2%	1.1%	0.3%	0.0%	2.1%	37.9%
Frederick	69.3%	10.8%	11.3%	5.5%	0.2%	0.1%	2.9%	30.7%
Garrett	96.0%	1.1%	1.3%	0.5%	0.2%	0.0%	0.9%	4.0%
Harford	74.0%	14.8%	5.1%	3.1%	0.2%	0.1%	2.7%	26.0%
Howard	48.6%	20.0%	7.6%	20.0%	0.2%	0.1%	3.4%	51.4%
Kent	77.8%	13.8%	4.9%	1.3%	0.2%	0.0%	2.0%	22.2%
Montgomery	42.2%	18.9%	20.1%	15.7%	0.2%	0.0%	2.9%	57.8%
Prince George's	11.9%	61.3%	20.4%	4.2%	0.2%	0.0%	2.1%	88.1%
Queen Anne's	85.8%	5.9%	4.6%	1.2%	0.3%	0.0%	2.1%	14.2%
St. Mary's	73.0%	14.6%	5.7%	2.9%	0.4%	0.1%	3.3%	27.0%
Somerset	51.6%	40.1%	4.1%	0.9%	0.4%	0.0%	2.8%	48.4%
Talbot	77.2%	12.0%	7.4%	1.3%	0.2%	0.1%	1.7%	22.8%
Washington	75.8%	12.5%	6.5%	1.9%	0.2%	0.1%	3.0%	24.2%
Wicomico	61.2%	26.8%	5.8%	3.1%	0.2%	0.0%	2.8%	38.8%
Worcester	80.2%	12.2%	3.9%	1.6%	0.3%	0.0%	1.8%	19.8%
Total	49.0%	30.2%	11.1%	6.8%	0.2%	0.0%	2.6%	51.0%

Racial Composition in Maryland - July 2021

Population Growth by Racial Composition July 2000 to July 2021

County	White	African American	Hispanic/ Latino	Asian	American Indian	Native Hawaiian	Multi Racial	Total Population	Minority Population
Allegany	-15.8%	41.3%	137.6%	88.4%	-6.3%	38.7%	215.3%	-9.5%	68.3%
Anne Arundel	-2.1%	61.7%	297.7%	123.0%	7.3%	64.1%	191.4%	20.1%	107.9%
Baltimore City	-21.1%	-15.3%	205.6%	54.4%	-22.7%	0.0%	89.4%	-11.2%	-6.7%
Baltimore	-17.1%	69.6%	274.0%	119.9%	23.8%	49.8%	192.2%	12.4%	94.2%
Calvert	15.1%	26.4%	282.9%	175.4%	56.1%	175.6%	259.3%	25.0%	73.8%
Caroline	3.9%	1.4%	239.7%	101.3%	14.0%	87.5%	192.3%	12.1%	46.7%
Carroll	5.3%	99.5%	358.2%	263.7%	15.2%	66.7%	296.2%	14.8%	201.3%
Cecil	8.6%	123.8%	261.3%	148.9%	19.7%	57.5%	244.3%	20.2%	165.8%
Charles	-28.3%	170.5%	318.8%	151.5%	10.1%	101.4%	194.5%	39.2%	177.7%
Dorchester	-3.8%	5.4%	421.6%	72.4%	16.7%	500.0%	169.8%	6.2%	28.3%
Frederick	11.9%	142.3%	554.6%	361.4%	55.4%	142.0%	256.5%	42.4%	269.0%
Garrett	-6.1%	96.4%	177.1%	166.0%	28.2%	N/A	189.4%	-3.8%	138.6%
Harford	3.1%	92.4%	209.5%	141.1%	32.4%	52.7%	183.7%	19.6%	120.3%
Howard	-10.4%	85.6%	230.1%	242.4%	19.0%	91.1%	182.1%	34.0%	152.4%
Kent	-0.6%	-20.3%	88.1%	122.5%	-40.6%	66.7%	145.8%	0.1%	2.5%
Montgomery	-15.1%	48.9%	107.3%	63.7%	0.2%	21.2%	120.9%	20.2%	72.6%
Prince George's	-42.0%	16.2%	234.4%	24.9%	-2.2%	14.6%	70.6%	19.0%	38.5%
Queen Anne's	20.8%	-15.1%	383.4%	161.0%	37.3%	340.0%	243.5%	24.6%	53.9%
St. Mary's	20.0%	39.9%	260.4%	112.6%	45.3%	90.5%	209.4%	32.3%	82.9%
Somerset	-7.8%	-2.7%	187.4%	73.1%	-9.1%	N/A	204.4%	-0.5%	8.6%
Talbot	5.6%	-12.5%	354.0%	71.0%	0.0%	2200.0%	189.0%	11.0%	34.4%
Washington	-0.2%	90.9%	501.4%	186.3%	25.5%	70.2%	290.2%	17.3%	161.3%
Wicomico	4.8%	40.7%	217.7%	112.3%	53.0%	-10.5%	282.2%	22.5%	66.6%
Worcester	13.1%	-16.7%	234.4%	185.4%	46.9%	30.8%	177.3%	13.5%	14.9%
Total	-8.5%	25.8%	194.0%	93.3%	8.2%	50.0%	152.2%	16.1%	56.5%

Racial Composition of the United States - July 2021

0 ()		African	Hispanic/		American	Native	Multi-
State	White	American	Latino	Asian		Hawaiian	Racial
Alabama	64.9%	26.5%	4.8%	1.5%	0.6%	0.1%	1.7%
Alaska	59.3%	3.2%	7.5%	6.4%	14.9%	1.6%	7.1%
Arizona	53.2%	4.7%	32.3%	3.5%	3.8%	0.2%	2.2%
Arkansas	71.3%	15.4%	8.3%	1.7%	0.8%	0.4%	2.1%
California	35.2%	5.6%	40.2%	15.3%	0.4%	0.4%	3.0%
Colorado	67.0%	4.1%	22.3%	3.4%	0.6%	0.2%	2.5%
Connecticut	64.6%	10.6%	17.7%	4.9%	0.2%	0.0%	1.9%
Delaware	60.6%	22.3%	10.1%	4.1%	0.3%	0.0%	2.5%
District of Columbia	37.3%	44.2%	11.5%	4.4%	0.2%	0.0%	2.5%
Florida	52.7%	15.5%	26.8%	2.9%	0.3%	0.1%	1.8%
Georgia	51.0%	32.0%	10.2%	4.5%	0.2%	0.1%	2.0%
Hawaii	21.4%	1.9%	11.1%	35.5%	0.2%	9.7%	20.2%
Idaho	81.1%	0.8%	13.3%	1.5%	1.1%	0.2%	2.2%
Illinois	60.0%	14.1%	18.0%	5.9%	0.2%	0.0%	1.8%
Indiana	77.5%	9.8%	7.7%	2.7%	0.2%	0.0%	2.1%
Iowa	84.1%	4.1%	6.7%	2.7%	0.3%	0.2%	1.9%
Kansas	74.7%	5.8%	12.7%	3.1%	0.8%	0.1%	2.8%
Kentucky	83.5%	8.4%	4.2%	1.7%	0.2%	0.1%	2.0%
Louisiana	57.9%	32.4%	5.6%	1.8%	0.7%	0.0%	1.6%
Maine	92.5%	1.7%	2.0%	1.3%	0.6%	0.0%	1.8%
Maryland	49.0%	30.2%	11.1%	6.8%	0.2%	0.0%	2.6%
Massachusetts	70.1%	7.5%	12.8%	7.4%	0.2%	0.0%	2.0%
Michigan	74.2%	13.8%	5.6%	3.4%	0.6%	0.0%	2.4%
Minnesota	78.1%	7.2%	5.8%	5.3%	1.1%	0.1%	2.4%
Mississippi	56.0%	37.6%	3.5%	1.1%	0.5%	0.0%	1.3%
Missouri	78.7%	11.5%	4.7%	2.2%	0.4%	0.1%	2.3%
Montana	85.5%	0.6%	4.3%	1.0%	6.0%	0.1%	2.6%
Nebraska	77.4%	5.0%	12.0%	2.7%	0.8%	0.1%	2.1%
Nevada	46.6%	9.6%	29.9%	8.6%	0.8%	0.7%	3.8%
New Hampshire	89.1%	1.5%	4.4%	3.0%	0.2%	0.0%	1.6%
New Jersey	53.5%	13.0%	21.5%	10.1%	0.2%	0.0%	1.6%

New Mexico	35.9%	1.9%	50.1%	1.6%	8.8%	0.1%	1.6%
New York	54.7%	14.4%	19.5%	9.1%	0.3%	0.0%	1.9%
North Carolina	61.9%	21.3%	10.2%	3.3%	1.1%	0.1%	2.1%
North Dakota	83.2%	3.3%	4.4%	1.6%	5.2%	0.1%	2.2%
Ohio	77.7%	12.8%	4.3%	2.6%	0.2%	0.0%	2.3%
Oklahoma	63.8%	7.4%	11.7%	2.4%	8.5%	0.2%	5.9%
Oregon	74.1%	2.0%	14.0%	4.8%	1.1%	0.4%	3.5%
Pennsylvania	74.8%	10.9%	8.4%	3.9%	0.1%	0.0%	1.8%
Rhode Island	70.4%	6.2%	17.1%	3.5%	0.4%	0.1%	2.2%
South Carolina	63.4%	26.1%	6.4%	1.9%	0.4%	0.1%	1.9%
South Dakota	80.8%	2.3%	4.6%	1.6%	8.2%	0.1%	2.3%
Tennessee	73.1%	16.6%	6.1%	1.9%	0.3%	0.1%	1.9%
Texas	40.3%	12.3%	40.2%	5.3%	0.3%	0.1%	1.6%
Utah	77.2%	1.2%	14.8%	2.5%	0.9%	1.1%	2.3%
Vermont	92.2%	1.3%	2.2%	2.0%	0.3%	0.0%	1.9%
Virginia	60.3%	19.2%	10.2%	7.0%	0.3%	0.1%	2.9%
Washington	66.0%	4.1%	13.7%	9.8%	1.2%	0.7%	4.4%
West Virginia	91.5%	3.6%	1.9%	0.9%	0.2%	0.0%	1.9%
Wisconsin	80.2%	6.4%	7.5%	3.1%	0.9%	0.0%	1.9%
Wyoming	83.3%	1.0%	10.6%	1.0%	2.1%	0.1%	1.9%
United States	59.3%	12.6%	18.9%	5.9%	0.7%	0.2%	2.3%